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Question Number : 1 Question Id : 2549896654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
(A/An) operates directly on hardware devices of the computer.

It provides a platform to run an application and helps to run the hardware of the computer and the system itself.
Options :

1. ¥ system software

2. % compiler

3. % interpreter

4. % application software

Question Number : 1 Question Id : 2549896654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ ReH 9iredR

2. % HHFR

3. % YR

4. % TRilopyM IIUCAqR

Question Number : 2 Question Id : 2549897038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a generic term used to refer to applications, scripts and programs that run on a device?
Options :

1. ¥ Software

2. * Hardware



3. % Typology
4. % Network

Question Number : 2 Question Id : 2549897038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fpt fearey WR T 81 W) TR, fRpY a1 MIUTH ol Sad B34 & fo1U g e 1 U faran Sirar g2
Options :

1. ¢ FIUCdqR

2. % GREARR

3. % Crgyrdrsit

4. % Acdd

Question Number : 3 Question Id : 2549897124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the full form of the ‘AltGr’ key found on most computer keyboards?
Options :

1. % Alternate Grain

2. % Alternate Grade

3. ¥ Alternate Graphic

4. % Alternate Gradient

Question Number : 3 Question Id : 2549897124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HTABT FHER HI-AgH H UTs SfF aTell B AltGr' &1 G 19 T 82
Options :

1. % 3feec U

2. % 3 IS

3. ¢ 3fceAc UTfthah




4. % 3fcec Ufgue

Question Number : 4 Question Id : 2549897751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does a pixel on the graphics display or digital image represent?
Options :

1. # Pictures

2. % Mathematical point

3. % Voltage values

4. % The smallest unit in a digital image

Question Number : 4 Question Id : 2549897751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Tither fEewt a1 fefored saw W fewie e exifar 82
Options :

1. % Tl

2. % TIOrCY foig &1

3. % glecol HHI DI

4. v T3fed 309 ) I B 318

Question Number : 5 Question Id : 2549898988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On which of the following types of CDs can recording be done only once on any given portion and it cannot be rewritten or altered?
Options :

1. ¥ CD-ROM

2. % CD-R

3. % CD-RW

4. % CD-WR



Question Number : 5 Question Id : 2549898988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. * CD-ROM

2. ¥ CD-R

3. % CD-RW

4. % CD-WR

Question Number : 6 Question Id : 2549899164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a portable electronic device meant for reading digital books and periodicals?
Options :

1. # Stylus

2. % E-book reader

3. % Bar code reader

4. % Plotter

Question Number : 6 Question Id : 2549899164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafad # 9 o @, fefored frard SR Rt e & T IUgi & ITH aTell U6 Sadgi-e Ulead (Sarsy g2
Options :

1. % LRy

2. ¥ SgH U

3. % gRBIS A

4. % WX




Question Number : 7 Question Id : 25498912038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Originally, Unix was written in which of the following languages?
Options :

1. # Cobol

2. % Basic

3. ¥ Assembly

4. % Java

Question Number : 7 Question Id : 25498912038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AT B Yeid: forg wrer o ferar mam U
Options :

1. % Dldrd

2. % 9P

3. STl

4, % S[dl

Question Number : 8 Question Id : 25498912983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following commands is used to open Windows Remote Assistance in Windows 8?
Options :

1. #* mblctr

2. ¥ msra

3. # remoteasst

4. % winremotasst

Question Number : 8 Question Id : 25498912983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Windows 8 ﬁﬁ@ﬁrﬁﬂﬂz WW$WWWWWWW%7
Options :

1. ¥ mblctr

2. ¥ msra

3. % remoteasst

4. % winremotasst

Question Number : 9 Question Id : 25498923844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A floppy drive is connected to the controller by a/an cable.
Options :

1. ¥ 40-pin connector

2. % 34-pin connector

3. # 68-pin connector

4. % 80-pin connector

Question Number : 9 Question Id : 25498923844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT 3189 U HEd GRT HeleR ¥ Hae gl g
Options :

1. % 40-f09 PR

2. ¢ 3409 TR

3. % 68-f0F Haex

4. % 80-f0F PR

Question Number : 10 Question Id : 25498929968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
can be used to unlock a smartphone, thus replacing the need for a password or pattern.



Options :

1. % A gait sensor

2. % A barometer

3. % An accelerometer

4. % A fingerprint sensor

Question Number : 10 Question Id : 25498929968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % ¢ YW

2. % R

3. % TaRIeRIHICR

4. ¢ ThTRIYC YW

Question Number : 11 Question Id : 25498930719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a website or part of a site that contains regularly updated content about one or multiple topics?
Options :

1. ¥ A blog

2. % A podcast

3. % A web mail

4. % A web series

Question Number : 11 Question Id : 25498930719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ T AN

2. % T UISHRC
3. % T a9 Hd
4. % TP 99 IR

Question Number : 12 Question Id : 25498930965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the output of the following MS-Excel function?

=SUMSQ (2, 3,4, 5)
Options :

1. % 196

2. % 41

3.9 54

4. % 14

Question Number : 12 Question Id : 25498930965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FRfIRIT MS-Excel BaRH &1 3T3CYE H1 62

=SUMSQ (2, 3,4, 5)
Options :

1. *® 196

2. % 41

3.¢¥°54

4, % 14

Question Number : 13 Question Id : 25498933235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The 7-bit ASCII binary code for character 'D' is
Options :

1. % 100 0001

2. % 1000010

3. % 1000011

4.4 1000100

Question Number : 13 Question Id : 25498933235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'D' 31&R & fe1T 7-fde ASCII IRt BIe 1N
Options :

1. % 100 0001

2. % 1000010

3. % 1000011

4.4 1000100

Question Number : 14 Question Id : 25498933732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The stripe on the back side of a credit card is a/an stripe.
Options :

1. * inked

2. % coded

3. ¥ magnetic

4. % tagged

Question Number : 14 Question Id : 25498933732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ® 339
2. % HlSS
3. ¥ dab iy
4. % T8

Question Number : 15 Question Id : 25498933828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to cryptography, the Display Port Copy Protection (DPCP) system, developed by Philips, uses a 128-bit
Options :

1. * Blowfish

2. % RSA

3. % DES

4. % AES

Question Number : 15 Question Id : 25498933828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

forprmet & e 7, fhferey grT faw g fewm aié rdt iiea=M (Dpcp) R, 128-f9e B ITAT H B
Options :

1. * Blowfish

2. % RSA

3. * DES

4. ¥ AES

Question Number : 16 Question Id : 2549897349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which file format is used to save Microsoft Windows virtual device driver?
Options :

1. % vdd



2.% vxd
3. % vdx

4. % vdxd

Question Number : 16 Question Id : 2549897349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Microsoft Windows Tg3(d fSaTgH STEaR &1 Wgo o (o1 B I BId HIHC BT SUIANT [T SITdl g2
Options :

1. % .vdd

2.9 vxd

3. % vdx

4. % vdxd

Question Number : 17 Question Id : 2549897926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The pattern that can be used to identify a virus is known as
Options :

1. ¥ virus signature

2. % stealth

3. % worms

4. % trojans

Question Number : 17 Question Id : 2549897926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

dRY & UgdH & U yanT fbu ST g g Oeisl gl war gl
Options :

1.« JIIY gXdIaR

2. % LY




3. % g
4, % CIoH

Question Number : 18 Question Id : 2549898371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the full form of SMPS?
Options :

1. # Simple Mode Power Supply

2. % Switch Mode Power Source

3. # Switched Mode Power Source
4. % Switched Mode Power Supply

Question Number : 18 Question Id : 2549898371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SMPS &1 T =Y FT g2

Options :

1. % Riud As uTR 9@ (Simple Mode Power Supply)
2. % o Als urer I (Switch Mode Power Source)

3. % fTo<s Ars urar O (Switched Mode Power Source)
4. ¢ g8 HIs UTa” {-ILC1I$C (Switched Mode Power Supply)

Question Number : 19 Question Id : 2549899491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the key combination that is generally used in Windows systems for printing documents?
Options :

1. % Alt+T

2. % Ctrl+T

3. ® Alt+P



4. ¢ Ctrl+P

Question Number : 19 Question Id : 2549899491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows R H g¥dTas Gfgd - & foTT T S gront GaTord o1 SUANT fohdT SiTd g2
Options :

1. * Alt+T

2. % Cul+T

3. % Alt+P

4. % Ctrl+P

Question Number : 20 Question Id : 2549899568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the Binary equivalent of given Decimal number?

(124)10= ()2
Options :

1. % 1111101
2. % 1111111
3. ¥ 1111100
4. % 111111001

Question Number : 20 Question Id : 2549899568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&) 77 e T BT S13R) T T 82

(124)19=(?),
Options :
1. % 1111101



2. % 1111111
3. ¥ 1111100
4.+ 111111001

Question Number : 21 Question Id : 25498910752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a removable cassette, where blank paper is stored for copying.
Options :
1. * Cartridge
2. % Ribbon
3. ¥ Paper tray
4. % Desktop

Question Number : 21 Question Id : 25498910752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Wmm(removable)wmg;WWW%W@%WWWW%I

Options :

1. ® PIfcS

2. % Rem

3./ U ¢

4, % STHC

Question Number : 22 Question Id : 25498911188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
(A/An) is a programming language.
Options :

1. * MS-Excel

2. ¥ Pascal



3. % Laravel
4. % Ohm

Question Number : 22 Question Id : 25498911188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
foffaad e uwfEmymwgl
Options :

1. % THTYH TRIA (MS-Excel)

2. % UReh d (Pascal)

3. % W(Laravel)

4. % 31gH (Ohm)

Question Number : 23 Question Id : 25498913378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Facsimile is also known as

Options :

1. ¥ FAX

2. % Fastest

3. # Fastest Email

4. % Photocopy

Question Number : 23 Question Id : 25498913378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gfafaf (Bfegaehy  Fweud diSremag|
Options :

1. ¢ B

2. % BHREE

3. % BRCW SHA




4. ® WICIBHUT

Question Number : 24 Question Id : 25498918443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following is a hardware?
Options :

1. # Printer installation setup

2. % A Printer

3. % A word document to print

4. % Image to print

Question Number : 24 Question Id : 25498918443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Faffed & 4 oH sedR 82
Options :

1. % fUieR R Hesy

2. ¢ TR

3. % W%ﬂ@wordm

4. % U 84 TP Bfd

Question Number : 25 Question Id : 25498918522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the output of the following MS-Excel function?

=CEILING.MATH(14, 4)
Options :

1. % 4

2.9¥ 16

3.%3



4. % 2

Question Number : 25 Question Id : 25498918522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TR MS-Excel ok &1 3T3CYC HT 57

=CEILING.MATH(14, 4)
Options :

1. % 4

2.9¥ 16

3.% 3

4, % 2

Question Number : 26 Question Id : 25498920769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the phonebook of the Internet, connecting web browsers with websites.
Options :
1. # httpry
2. % justniffer
3. % ngrep

4. ¥ Domain Name Server

Question Number : 26 Question Id : 25498920769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

, 32X B! BIE® BId! &, Sl 99 ST3oR ! daTzel 4 sl g
Options :
1. # httpry

2. % justniffer

3. % ngrep



4.  SIHT H R

Question Number : 27 Question Id : 25498922016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In DES, the round-key generator creates sixteen  keys out of a 56-bit cipher key.
Options :

1. ¥ 48 bit

2. % 64 bit

3. % 16 bit

4. % 4 bit

Question Number : 27 Question Id : 25498922016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1309, (DES) H, TS S-Foil ara Svex s6-fae R ol A dag ol s 6|
Options :

1. ¢ 48 fac

2. % 4fac

3. % 16fac

4. % 4fqe

Question Number : 28 Question Id : 25498922632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options is NOT related to the restart a PC operation?
Options :

1. # Use the on-screen START button

2. % CTRI+SHIFT+DELETE

3. ¥ CTRL+ALT+DELETE

4. % Using the Power Button



Question Number : 28 Question Id : 25498922632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafalaa & @ oF- a1 fawed pe ITREH Y TRl H3 § Te&fda Fg1 82
Options :

1. ® 3{H-TPIH START ¢ Bl IUINT HAT

2. ¥ CTRI+SHIFT+DELETE

3. % CTRL+ALT+DELETE

4. % TR §&- DI IUANT HAT

Question Number : 29 Question Id : 25498924168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Operating system is installed on top of the:
Options :

1. ¥ Hardware

2. % Application program

3. % User interface

4. # System software

Question Number : 29 Question Id : 25498924168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AFMRFRTRETH PR gerd fodl Irar g
Options :

1. ¢ BISaWR

2. % TWIBRH GIH

3. % goR Sy

4. % TCH AFamR



Question Number : 30 Question Id : 25498925156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
7-Zip is an example of:

Options :

1. # Portable document format

2. % Word processor

3. ¥ File archiver

4. % Qperating system

Question Number : 30 Question Id : 25498925156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

7-Zip T & T {1 T IR0 32

Options :

1. % OQIdad XA Uy (Portable document format)
2. % g8 UER (Word processor)

3. ¢ WIS JHIHISaR (File archiver)

4. % 3fTgfe Req (Operating system)

Question Number : 31 Question Id : 2549896452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following would you use for immediate, real-time communication with a friend?
Options :

1. ¥ Email

2. ¥ Instant Messaging

3. % Usenet

4. % Blog

Question Number : 31 Question Id : 2549896452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

310 TR o 1Y b Tel, RTW-C18H F9R & forw 3y (49 H Y fheept Iuin v
Options :

1. % 309

2. ¢ Ze TR

3. % goc

4. % AT

Question Number : 32 Question Id : 2549896641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following refers to a Web browser?

Options :

1. ¥ a special folder on the Windows desktop used to keep documents up to date when shared between computers
2. % aline that delineates the edge of a program window

3. ¥ a software program used for viewing web pages on the internet

4. % g service that allows internet users to search for content via the World Wide Web

Question Number : 32 Question Id : 2549896641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 & o1 Tt 39 TR B1 Tt ARAT 82

Options :

1. ® $HICR P g I fHPU SH & L STagHcy &1 3usSe I8 7 fASIs S¥hely R Uh Ry wice?
2. % U Ufdd o U TR i) & R &t iffa v 8

3. ¢ $eIc IR 99 Ul ¢ & o1l YanT fam S aTell U It aaR Ui

4. % 93 9138 99 Y H1HH W STARTHATS DI Sec TR AMRA &I Gl B STHN UG S arell T 4l

Question Number : 33 Question Id : 2549897171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements with reference to a workbook in MS Excel is FALSE?
Options :

1. % A workbook is made up of worksheets.

2. % The worksheets are labelled Sheet1, Sheet2, Sheet3 and so on.

3. ® Each Excel worksheet is made up of columns and rows.

4. ¥ The name of a worksheet cannot be changed in MS Excel.

Question Number : 33 Question Id : 2549897171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel B g o ey H FafRad & 9 &F 91 &y e 52

Options :

1. % g, hxicy I fHdHe a1 ]

2. % gheiicg & Yte 1, e 2, 2fie 3 ... 3R 3 e, & U H AHifed fbar ST g |
3. % YAP ahefie A 3R HiaH &I s g1 81

4. ¥ MS Excel H ah2icq & ATH &I Scdl Ta! off Gl g

Question Number : 34 Question Id : 2549897420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The 'Show markup' option is available within which of the following tabs of MS Word 2019?
Options :

1. % Edit

2. % Format

3. ¥ Review

4. % Page Layout

Question Number : 34 Question Id : 2549897420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 & 9 & § {5 9 T 2 Hidh 31 fadhed Hislg 81T /2

Options :



1. % Tfge
2. % IHC
3./ 3g

4. % U9 T-3T3¢

Question Number : 35 Question Id : 2549897881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following types of Slide Show in MS PowerPoint 2019 allows you to adapt a single presentation for different audiences?
Options :

1. % Custom

2. % From Beginning

3. % From Current Slide

4. % Record

Question Number : 35 Question Id : 2549897881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint 2019 &1 I IT WIS T TUD! THTYH Yidraft & T Thd USIeIM UM &1 AT Gl g2
Options :

1. ¥ dICH

2. % A

3. % A WS A

4. % Rapls

Question Number : 36 Question Id : 2549898110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A chart provides a great 3D representation of the highs and lows in MS Excel 2019.
Options :

1. # pie



2. % surface
3. * radar

4. % doughnut

Question Number : 36 Question Id : 2549898110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel 2019 % =T¢, 3= U4 Ay fufaadt ) 3p ureg & geifar 81|
Options :

1. % U1g

2. ¢ qhHY

3. ¥ ISR

4. % GHC

Question Number : 37 Question Id : 2549898128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following with reference to stock charts is true in MS Excel?
Options :

1. % Compares pairs of values

2. % Displays a smooth curve that connects the data points

3. % Displays data in rings, where each ring represents a data series

4. % Used to illustrate the fluctuation of stock prices

Question Number : 37 Question Id : 2549898128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel § ¥ aT¢ & da¢ H DI A1 HU gl 67
Options :

1. % i & SISl BT gal HRl §

2. % STTUTSC &I SIS aTel IHdd 391 &I UeiRid Hdl &




3. % ST &1 YR R fovan ST 8, el Uds R, 3¢ &t §&dr &1 ufaFitia @ @
4.« Wi & Tl B AFRRAT B Tdd B & 1T IUTIT a1 S §

Question Number : 38 Question Id : 25498910614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following steps keep an entire paragraph on the same page in MS Word 2019?
Options :

1. ¥ Go to Paragraph dialog box > Click Line and Page Breaks tab > Select 'Keep lines together'
2. # Go to Paragraph dialog box > Click Indents and Spacing tab > Select 'Keep lines together'

3. # Go to Paragraph dialog box > Click Line and Page Breaks tab > Select 'Supress line numbers'
4. # Go to Font dialog box > Click Line and Page Breaks tab > Select 'Keep lines together'

Question Number : 38 Question Id : 25498910614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o & & o1 TR BT TN DR 3T MS Word 2019 H bl TRENE &1 I UF TR 3G Tobdl 32

Options :

1. ¢ Paragraph dialog TR | ST > Line and Page Breaks ¢ R ot Y > 'Keep lines together' T I P
2. ® Paragraph dialog TR | ST > Indents and Spacing ¢ R e &Y > 'Keep lines together' hI g Ey
3. ® Paragraph dialog SR TR 1Y > Line and Page Breaks 9 R I B3 > 'Supress line numbers' Pl ?ﬁr

4. % Font dialog TR | SITU > Line and Page Breaks eI R faas & > 'Keep lines together' CAR:NE S

Question Number : 39 Question Id : 25498910684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The given icon represents which type of section break in MS Word 2019?
P
Options :

1. ¥ Next page
2. % Continuous

3. # Even page



4. % Odd page

Question Number : 39 Question Id : 25498910684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

feam T S BT MS Word 2019 H fh UPR & T sch BT UeRd Bl 82

L

Options :

1. ¢ AR U
2. % B3y
3. % I U

4. % IS U

Question Number : 40 Question Id : 25498910705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word 2016, when we open the Paragraph dialog box and click on the Tabs button at the bottom of Indent and Spacing tab, we use the
option to type the position of the tab stop that we want to set.

Options :

1. % Alignment

2. % Tab stop position
3. % Leader

4. % Default tab stops

Question Number : 40 Question Id : 25498910705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 §, 518 8H TREITH SIANT Sidg Wdd & 3R $o¢ 3R WRAT ¢d P =7 ¢d g W fFae Hd 8, dl o 2 &l g1 e Bl
TEd & 39 ¢§ W10 & fUfY <130 o & forw fAepea &1 ST B

Options :

1. ® 3fcsTHe

2. ¢ 9 W UISHRH




3. % @ie’
4. % fSplee &9 Wiy

Question Number : 41 Question Id : 25498911085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used for centering text in MS Word 2019?
Options :

1. % Ctrl + M

2. % Ctrl +1J

3. % Ctrl +C

4. % Ctrl + E

Question Number : 41 Question Id : 25498911085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 H TRE &I dbfad I & T e & 9 ford Bials Ricdhe BT SUART [T oiTdl 82
Options :

1. % Curl + M

2. % Ctrl +1J

3. % Ctrl +C

4. % Ctrl + E

Question Number : 42 Question Id : 25498911452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is displayed when the F7 function key pressed while working with a document in MS Word 2019?
Options :

1. ¥ Editor task pane

2. % Translator task pane

3. % Thesaurus task pane

4. % Research task pane



Question Number : 42 Question Id : 25498911452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 & SlagHc & ITY HTH Hd THI F7 HaRM ol qad o W -5 H § &1 UeRid gid1 82
Options :

1. ¢ TSR TR U

2. % TIeex TR U

3. % fIURY e U

4. % d e UH

Question Number : 43 Question Id : 25498911470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word 2016, suppose you want to prevent the AutoCorrect tool from correcting two initial capital letters (such AMv3), you must go to File
> Options > Proofing and select AutoCorrect Options. When the AutoCorrect tab shows up, you must uncheck the checkbox.

Options :

1. ¥ Correct TWo INitial CApitals

2. % Capitalize first letter of sentences
3. % Capitalize first letter of table cells

4. % Capitalize names of days

Question Number : 43 Question Id : 25498911470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 &, AIF o fdh 31T 3ifeihae ¢ §RT &l URMNG 98 34eRT (S AMv3) &1 31 B I AH1 dT8d §, dl 3MUD! BIgd &
gt faded § SIHT 8N 3R a8t siicimiae [daed &1 98- o311 | 3D dlG 5Id 3HTeidhde o faa, df 3udh EEEIES K]
3fFeh BT G|

Options :

1. ¥ Correct TWo INitial CApitals

2. % Capitalize first letter of sentences

3. % Capitalize first letter of table cells




4. % Capitalize names of days

Question Number : 44 Question Id : 25498911829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you select 'multiple' in the Paragraph dialog box in MS Word 2019, the line spacing will be measured in
Options :

1. # points

2. % inches

3. ¥ lines

4. % centimetres

Question Number : 44 Question Id : 25498911829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 & URTITH ST Sidd ¥ TG 31T ey fadbed o1 90 Id @, dl g TR &1 o AT ST
Options :

1. % gigcy

2. % 59

3. ¢ digd

4. % HdHIeR

Question Number : 45 Question Id : 25498911911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The summary section at the top of the Reviewing Pane displays the exact number of insertions, deletions, moves, formatting and that
remain in a MS Word 2019 document.

Options :

1. ¥ comments
2. % messages
3. ® replies

4. % balloons



Question Number : 45 Question Id : 25498911911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 Sagic # Ragfd i & i W fyd Tt Saem, Slagdic fhd u it Su=i, feeiiem, go, wiafe ok &I
Tl T 1 SR B |

Options :

1. ¥ HHY
2. % Tl
3. % s
4. % 99

Question Number : 46 Question Id : 25498911936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We can manually select the width of the columns in an MS Word 2019 document by clicking the option in the columns drop-down menu.
Options :

1. # Customize Columns

2. % More Columns

3. % Control Columns

4. # Insert Columns

Question Number : 46 Question Id : 25498911936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 A BITH ST SRATIdH_ fadheu IR fFasdh orch g0 SIaH &1 digls H-g3d ©U I g Ihd ¢ |
Options :

1. % HLHARZS HIad

2. ¢ AR HIcH

3. % eld dlaH

4. % TS HIAH




Question Number : 47 Question Id : 25498913325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the phrase 'BOLD & ITALICS'. The Change Case formatting applied on the given phrase comes under which type in MS Word 2019?
Options :

1. ¥ Sentence case

2. % Mixed case

3. # Capitalize Each Word

4. ¥ UPPERCASE

Question Number : 47 Question Id : 25498913325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ZIGT;T;'BOLD&ITALICS'WWﬁI%QTFQ IGRITR UR A1 T 71 S 8 WIHTCTT MS Word 2019 H & & fohdl TR & Sfavfd
0

Options :

1. % JegHy

2. % R oy

3. % HiUcass gd ds

4. WRhY

Question Number : 48 Question Id : 25498919156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To delete the return address in the envelopes in Mail Merge, we have to enable the check box in the Envelopes and Labels dialog box in
MS Word 2019.

Options :
1. % Omit
2. % Modify
3. ® Delete
4. ® Edit



Question Number : 48 Question Id : 25498919156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IéIE”WMd 2019 T AT Tl (merge) T TaaT I R T3 geM & o, 8 Tay 3R dad STAan diaq & fhd I aia &) 33ad Bl
?

Options :

1. ¢ 3iffe
2. % HTSHTy
3. % fgefle
4. % Qfge

Question Number : 49 Question Id : 25498919235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In mail merge process of MS-Word 2019, what is the default ending punctuation while insering Greeting line from Write and Insert fields of
Mailings tab, using Greeting line format?

Options :

1. ¥ comma
2. % colon
3. % full stop

4. % semi colon

Question Number : 49 Question Id : 25498919235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 1 Bl Tl UfshaT ff, feT NIES] BIHC BT IUINT HId gl AfeRT (Mailings) REE:D e TS Eﬂé e (Write and Insert fields)
 HifeT A ufay wHd guy fewiee UfsT favm fag g2

Options :

1. DAl

2. % B
3. % B Wy




4, % IH DHIaA

Question Number : 50 Question Id : 25498924875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are True/False in order to make data in good shape to get accurate results in Pivot table in MS-Excel 2019?

(1) Source data should have no blank rows or columns, and no subtotals.
(i1) Different columns can have the same name.

Options :

1. # (1)-True, (i1)-True
2. % (i)-True, (ii)-False
3. # (1)-False, (i1)-True
4. % (1)-False, (i1)-False

Question Number : 50 Question Id : 25498924875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H fUdle ¢aa # Ule afRumA Ui o34 8q Scl Bl 3 did I UfA¥ o4 & forg Fafoiad & @ &F 1 sy eATed 82

() T ST H PIs Rad A T HIay 81 a1 A1, 3R PIg deled gl 811 AT
(i) faf¥a PIaw &1 & 8 T4 8 I 5|

Options :

1. % (i)-Wgl, (if)-Te!
2. ¢ (i)-98l, (ii)-TTeTd
3. % ())-Ted, (ii)-Ts!
4. % (i)-T1Qd, (ii)-Trerd

Question Number : 51 Question Id : 25498925519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A number, figure, symbol or indicator that is smaller than the normal line of type, and is set slightly below it is known as:
Options :



1. # ascender line
2. ¥ subscript
3. ®* mid line

4. % superscript

Question Number : 51 Question Id : 25498925519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

His OO I=T, 7, Udiles a1 Ghdes St dTe & AT fa=0r ¥ BieT 8iaT § 3R 39 UeT < fRyd 8idT §, 91 e drdl 82
Options :

1. % TRiS s

2. ¢ FERPE

3. % g ame

4. % JRIEH

Question Number : 52 Question Id : 25498934501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an extension of video file formats in computers?
Options :

1. % jpg

2. % mpg

3. % exe

4. % bmp

Question Number : 52 Question Id : 25498934501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafad @ 9 & 9 e | difsal Bhed Bide &1 Tk TaRICH 82
Options :

1. * jpg




2. ¥ mpg

3. % exe
4. % bmp

READING COMPREHENSION
Section Id : 2549896814
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 5
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896855
Question Shuffling Allowed : Yes

Question Id : 25498920935 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Bodies of climbers found in Himalayas

The bodies of top mountaineer Alex Lowe and his cameraman have been found in a Himalayan glacier, 16 years after they were buried by an
avalanche on one of the world’s highest mountains. Two climbers last week came across the men’s bodies still encased in blue ice but beginning
to appear from the glacier. A foundation set up in Lowe’s memory said.

Lowe, 40, and expedition cameraman David Bridges, 29, both American, were swept away by a massive snow and ice avalanche on the 8,027m
Shisha Pangma peak in China in October 1999 while attempting the first American ski descent. Conrad Anker, who survived the avalanche and

went on to marry Lowe’s widow and adopt their three sons, said the discovery had brought “closure and relief” to the family. They will travel to
the Tibetan mountain — one of only 14 in the world measuring over 8,000m — to bring back the bodies. "Alex’s parents are thankful to know that



their son’s body has been found and that Conrad, the boys and I will make our pilgrimage to Shisha Pangma," said Lowe’s widow.

The couple were in Nepal when they heard the news, overseeing the construction of a new building for the Khumbu Climbing Centre which trains
local mountain workers. The centre was established in 2003 in memory of Lowe, who had climbed Everest twice and had strong ties with Nepal.
He ranked among the world’s top mountaineers before his death, and was nicknamed the Lung with Legs after a high speed ascent of Argentina’s
Aconcagua, the tallest peak in the Americas.

Climbers David Goettler and Ueli Steck discovered the bodies as they were acclimatising for an ascent on the south face Shisha Pangma. The
mountain, which was closed to westerners until 1978, is considered relatively accessible among the 8,000m peaks.

Sub questions

Question Number : 53 Question Id : 25498920936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which mountain peak, above 8000m, is being referred to in the passage?
Options :

1. % Everest

2. % Dhaula Giri 1

3. ¥ Shisha Pangma

4. % Cho Oyu

Question Number : 54 Question Id : 25498920937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who are the two mountaineers whose bodies have been found recently?
Options :

1. ¥ Alex Lowe & David Bridges

2. % David Goettler & Ueli Steck

3. # Conrad Anker & Alex Lowe

4. % Walter Bonatti & Amir Mahdi

Question Number : 55 Question Id : 25498920938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which record did Alex Lowe want to establish when he lost his life?



Options :

1. # To be the first American climber to reach the top without supplemental oxygen.
2. ¥ To make the first American ski descent from the peak of Shisha Pangma.

3. # To make a video recording of the ascent and descent.

4. % To climb to the top without the help of any Sherpa to carry his load.

Question Number : 56 Question Id : 25498920939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why was the Khumbu Climbing Centre built? Select the INCORRECT ANSWER.
Options :

1. * In memory of Lowe.

2. % To train local mountain workers.

3. ¥ To fulfill Lowe's parents' wishes.

4. % To prove Lowe's strong ties with Nepal.

Question Number : 57 Question Id : 25498920940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement DOES NOT support Lowe's fame as an extraordinary mountaineer?
Options :

1. ® Lowe had climbed the Everest twice.

2. % He ranked among the world's top mountaineers before his death.

3. # He was called the Lung with Legs because of his swift ascent of Aconcagua.

4. ¥ Shish Pangma was his first attempt to climb a 8000 metre peak.

Question Id : 25498920935 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498920936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® TAWE

2. % yrar R 1

3. « TR g

4. % =73,

Question Number : 54 Question Id : 25498920937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
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Question Number : 55 Question Id : 25498920938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A I ford Repl's o1 RAIfid ST 918d & §a S84 U1 St & faam
Options :

1. % RSP R & o1 2 I Uga- ara Ugdl SRS UddRIs! gl

2. ¢ 2R U B A1 W Wl fEie HRAa ugd 3Rkt s & fa|

3. % g 3R I D1 T difSa RepifeT s & form|

4, % U HR P ST Wa & foru fopdt +ff RRut 61 Aee & fomr it R aea & ol

Question Number : 56 Question Id : 25498920939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 25498920940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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QUANTITATIVE APTITUDE
Section Id : 2549896815
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896856
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Evaluate the following expression. (You are not expected to calculate the exact value)

74% of 366 + 12.6% of 317 =7

Options :
1. % 320
2. % 280
3. % 350
4.4 310



Question Number : 58 Question Id : 25498914276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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366 DPI74% + 317 DI 12.6% =?

Options :
1. % 320
2. % 280
3. % 350
4.4 310

Question Number : 59 Question Id : 25498914358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What value should come in place of the question mark (?) in the following expression?

7% of 800 =293 - (22% of 750)
Options :

1. % 14

2. % 18

3.% 12

4.9 16

Question Number : 59 Question Id : 25498914358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fAgfefad sdsre 1 Uy fag (2) & I W o1 /14 3T

800 hT 7% =293 - (750 PI122%)
Options :



1. = 14
2. % 18
3.% 12
4.9 16

Question Number : 60 Question Id : 25498928824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What approximate value should come in place of the question mark (?) in the following expression?

(638 + 9709 - 216) + 26 = ?

Options :
1. % 275
2. % 365
3. % 420
4. % 390

Question Number : 60 Question Id : 25498928824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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(638 +9709 - 216) + 26 =2

Options :
1. % 275
2. % 365
3. % 420
4. % 390

Question Number : 61 Question Id : 25498928939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Evaluate the following expression. (You are not expected to calculate the exact value)

999.0001 + 899.999 - 349.88 =?
Options :
1. ¥ 1549
2. % 1560
3. % 1449
4. % 1460

Question Number : 61 Question Id : 25498928939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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999.0001 + 899.999 - 349.88 = ?
Options :
1. ¥ 1549
2. % 1560
3. % 1449
4. % 1460

Question Number : 62 Question Id : 25498929083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L
Options :
1. % Lo

2. % |

3. % |



4. & |

Question Number : 62 Question Id : 25498929083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L
Options :

1. % le

2. % |l

3. % ley

4. 9 e

Question Number : 63 Question Id : 25498929616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L)
Options :
1. % le.
2. % o,
3. ¥ e
4. % (@

Question Number : 63 Question Id : 25498929616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Options :
1. % le.
2. % o,
3. ¥ s
4. % (@

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549896816
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896857
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Glutton is related to Eat in the same way as Garrulous is related to:
Options :

1. ¥ Talk



2. % Walk
3. * Laugh

4. % Travel

Question Number : 64 Question Id : 25498910192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ §leH

2. % Ted

3. % g4

4. % O

Question Number : 65 Question Id : 25498912906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following series, the number of letters skipped in between the adjacent letters are in ascending order, i.e., 1, 2, 3, 4. Which one of the
following letter groups does NOT obey this rule?

Options :

1. # CEHLQ
2. % DFIMR
3. % GILPU
4. % HIMPT

Question Number : 65 Question Id : 25498912906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. * CEHLQ




2. * DFIMR
3. = GILPU
4. ¥ HIMPT

Question Number : 66 Question Id : 25498919805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the given names in the order in which they would occur in a telephone directory and choose the one which appears in second position.
Options :

1. * Jetley

2. % Jenson

3. # Jainson

4. % Jaisons

Question Number : 66 Question Id : 25498919805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Jetley

2. % Jenson

3. % Jainson

4. % Jaisons

Question Number : 67 Question Id : 25498919896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given below, out of which three are alike in some manner, while the fourth one is different. Choose out the odd one.
Options :

1. % Deck

2. % Quay

3. % Stern



4. # Bow

Question Number : 67 Question Id : 25498919896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 3® (Deck)

2. ¥ YIC (Quay)

3. =% E|’>_oﬁT(S‘[er‘n)

4. % YJY (Bow)

Question Number : 68 Question Id : 25498927842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
There is a certain relationship between the first two words. Select the correct option which has the same relationship with the third word.

Disease : Medicine :: Famine : ?
Options :

1. * Clouds

2. ¥ Rainfall

3. * Drought

4. % River

Question Number : 68 Question Id : 25498927842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. # dlqd



2. FIRY

3. % 3N
4. % 9q

Question Number : 69 Question Id : 25498928728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code, ROAD is written as URDG. How is SWAN written in that code?
Options :

1. # VXDQ

2. ¥ VZDQ

3. % VZCP

4, = UXDQ

Question Number : 69 Question Id : 25498928728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. # VXDQ
2. % VZDQ
3. % VZCP
4. % UXDQ

GENERAL AWARENESS
Section Id : 2549896817
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 6



Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896858
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Urbanisation and Industrialisation are detrimental to:
Options :

1. # sustainable development

2. % environmental and ecology

3. % preservation of biodiversity

4. % all of the given options

Question Number : 70 Question Id : 2549895259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % gad f[der & fog

2. % TITaRUT 3R UIRTRUfcran! & forg

3. % Oiq fafaedr & Reur & fag

4. ¢ feuu g4t fdsw ey

Question Number : 71 Question Id : 2549895384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Consider the following pairs of mineral and district with the large/significant commercially important deposits.

A. Apatite - Visakhapatnam
B. Chromite - Cuttack

C. Gold - Nagpur

D. Gypsum - Anantapuram

Which of the pairs given above are correctly matched?
Options :

l.¥ Aand B

2.% A Band C

3.% A,Band D

4. % B,Cand D

Question Number : 71 Question Id : 2549895384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1.¥ A3RB

2. % AB3IRC

3.% A, B3RD

4. % B,C3MRD

Question Number : 72 Question Id : 2549895532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Monohybrid ratio of Mendel’s cross is
Options :
[.%9:3:3:1
2.9 3:1
3.% 1:1
4. % 2:1

Question Number : 72 Question Id : 2549895532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

I.%9:3

2.9 3:1
1
1

3.% 1:
4, % 2.

Question Number : 73 Question Id : 25498929762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Alcoholic fermentation is brought about by the action of:
Options :

1. ¥ yeast

2. % CO,y

3.% 0y

4. % CO

Question Number : 73 Question Id : 25498929762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥V AR
2. % CO,
3. % 0,

4. % CO

Question Number : 74 Question Id : 25498930083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

October 16 is observed as

Options :

1. ® World Habital Day, recognised by the UN

2. ® United Nations Day for South-South Cooperation

3. % World Day for laboratory animals, recognised by the UN
4. ¥ World Food Day, recognised by the UN

Question Number : 74 Question Id : 25498930083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % TYad Y gRT ARG U 3% 3mary faq

2. % Cf&UT-aférur geaT & forg Iy 1y faad

3. % YK Y GRTHRIAT YT GARTRITS Sig3ii o ferq fay faag
4. YT Y GRT A UTS g @ ey

Question Number : 75 Question Id : 25498932092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Hariprasad Chaurasia is a renowned player of:
Options :



1. * tabla
2. % sarod
3.+ flute

4. % shehnai

Question Number : 75 Question Id : 25498932092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % dddl

2. % Wi

3. ¢ Sigd

4. % TES

English Mock
Group Number : 2
Group Id : 2549894332
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View

Show Progress Bar? : No



English Mock

Section Id : 2549896818
Section Number : 1

Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896859
Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498940809 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have

fun during this process as they get to explore new arenas.
Restricted/ Unrestricted : Unrestricted

Paragraph Display : Yes

Keyboard Layout : Inscript

Show Details Panel : Yes

Show Error Count : Yes

Highlight Correct or Incorrect Words : Yes

Allow Back Space : Yes

Show Back Space Count : Yes

English Actual
Group Number : 3
Group Id : 2549894333
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Show Attended Group? : No

Edit Attended Group? : No

Break time : 3

Mandatory Break time : Yes

Group Marks : 0

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No
English Typing Test

Section Id : 2549896819

Section Number : 1

Section type : Typing Test

Mandatory or Optional : Mandatory

Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549896860

Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498937907 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Advertisements are to be seen everywhere. Wherever we go advertisements stare us in the face. You will find any number of
advertisements along the roads on billboards or at railway and bus stations. There are also many private and public businesses these days
than ever. And because of that more companies are investing in marketing or advertising about their products and services than ever.
Before proceeding any further it is important to understand what advertising really is. According to different experts an advertisement
can be defined as a type of marketing conversation which consists of a calculated approach through which a company notifies its target
audience regarding its products and services in a very proactive and strategic manner. The importance of advertising has grown
exponentially over the years. However just like anything else in life there are bound to be positive and negative effects of advertising.



Advertisements do not merely sold products but it sells dreams and ideal ways of life. It sells and then reinforces time and again values
those of consumerism and class consciousness. It also trades in stereotypes. Advertising creates and sustains an ideology of consumption.
It is a social force affecting Indian homes today. Advertising is a social institution and a necessary social evil. The cost and benefit should
be evaluated to determine the total impact of advertising on our social welfare the issue is not whether advertising is perfect but whether
the benefits of advertising outweigh the costs making social welfare greater than advertising. Advertising is one of the functions of mass
communication. All productivity relies on this medium of mass communication. Advertising diffuses information about commodities and
markets them to persuade the common man of their place in his life. In fact advertising does more than this. It also plays a role in social
change. It celebrates change and internalizes change for those who become better by using a certain product or service. In short
advertising is the voice of technology because of that it represents the intention to affect life. Advertising though originally used to market
products now seems to market feelings and sensations and styles of life. All this has been possible through an efficient communication
network which has revolutionized changes. The first impact that one gets from the advertisement is that the viewers have no choice of
their own in making preference for the consumer goods they want to use in daily life. The advertisement imposes choices and preferences
on the public mind through language and jingles etc. The propaganda on behalf of goods in general is considered by many a dangerous
mode of brain washing. The central function appears to create desires that previously did not exist or rather anxieties which respond to
the advertisements. On the credit side advertising has speeded the introduction of useful inventions. It has accelerated turnover and kept
people in employment. Advertising in India has created an incredible awareness among the people in the past decade growing into big
industry. It was grown along with the press and today it has found its way into the other two media Radio and Television. Further
advertising has a definite role to play in rural development and Indian advertising has made some progress in this direction also.
Advertisements of fertilizers and farming equipment have reached rural market successfully.
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